Chapter 13: Marketing


Chapter 13 Building the Price Foundation
Multiple Choice

1. ZUJI is __________.
a) a new airline
b) a new restaurant franchise
c) a hotel chain 
d) a travel agency
e) a small, high-memory server to which memory can easily be added
Ans: d
Feedback: ZUJI is a travel agency that offers online travel booking services. 
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Learning Objective: 1
2. Which of the following statements about ZUJI is true?
a) ZUJI provides two key benefits: time-saving and money-saving to buyers. 
b) ZUJI is a Hong Kong-based company
c) ZUJI offers services in Asia only 
d) ZUJI is the only company that offers travel packages online
e) All of the above are true
Ans: a
Feedback: ZUJI provides two key benefits to its buyers: time-saving and money-saving. It is a Singapore-based company that offers services to almost every part of the world. There are many online travel agents like that of ZUJI. 
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3. Which of the following statements about pricing is true?
a) Customers don't have to pay the price because there are always people who will buy the item
b) Small changes in price can have big effects on the number of units sold but not company profit
c) Small changes in price can have big effects on company profit but not on the number of units sold
d) Small changes in price can have big effects on the number of units sold and also on company profit
e) All of the above are true
Ans: d
Feedback: Price is the place where all other business decisions come together. The price must be right in the sense that customers must be willing to pay it and it must generate enough sales dollars to pay for the cost of developing, producing and marketing the product and earn a profit for the company. Small changes in price can have big effects on both the number of units sold and company profit.
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4. A price increase in necessities like rice in 2007 led to which of the following?
a) No change
b) A decrease in demand for rice 
c) An increase in demand for rice 
d) An increase in demand for other food (e.g. wheat and potatoes) 
e) A decrease in demand for other food (e.g. wheat and potatoes)
Ans: c
Feedback: Because rice is a staple food in Asia, a price increase in rice in 2007 led to an increase in demand for rice. 
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Learning Objective: 1
5. Attorneys' fees, entrance fees, train fares and organization dues are all __________.
a) premiums
b) bartering tools
c) mediums of exchange
d) synonyms for price
e) examples of liquidity
Ans: d
Feedback: Tuition, rent, interest, premium, fee, dues, fares, salary, commission and wage are all synonyms for price.
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6. Which of the following is a particular type of price?
a) Operating costs
b) Liquidity
c) Equitable medium
d) College tuition
e) Stockholders' equity
Ans: d
Feedback: College tuition is a special kind of price, the money paid by a college student for a term of classes.
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From a marketing viewpoint, price is __________ exchanged for the ownership or use of a good or service.
a) money or other considerations (including goods but not intangibles and services)
b) money or other considerations (including other goods and services)
c) money exclusively earmarked for the transaction
d) what is recognized as barter within a particular culture
e) anything of value to the buyer but not necessarily of value to the seller
Ans: b
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Learning Objective: 1
8. From a marketing viewpoint, __________ is money or other considerations (including goods and services) exchanged for the ownership or use of a good or service.
a) value
b) price
c) barter
d) a contract
e) a tariff
Ans: b
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9. Barter is the practice of exchanging goods and services for other goods and services rather than for __________.
a) value
b) perceptions
c) money
d) promises
e) tariffs
Ans: c
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10. The practice of exchanging goods and services for other goods and services rather than for money is called __________.
a) pricing
b) pricing substitution
c) debt restructuring
d) value-pricing
e) barter
Ans: e
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Learning Objective: 1
11. Jane hired an attorney to represent her in a court case involving an auto accident. The attorney charged Jane a fee for his services. Terry needed a haircut-the local stylist charged him $12 for her services. John mowed his neighbor's lawn; in exchange, the neighbor rearranged John’s garden. The attorney fees paid by Jane, the $12 charged by the hair stylist and exchange of lawn mowing for garden tilling are examples of __________.
a) price
b) barter
c) fee setting
d) unfair market exchanges
e) product fares
Ans: a
Feedback: In the marketing discipline, price is the money, goods or services exchanged for the ownership or use of a good or service. Just as a customer pays a specific monetary price for physical product like a loaf of bread or a box of cereal, the price of a haircut service might be $12. The price of getting one's garden rearranged might take the form of barter-where in exchange for one service or product no money changes hands, but the parties exchange services or goods.
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12. The use of "special fees" and "surcharges" is driven by consumers' zeal for __________ and the ease of making price comparisons on the Internet.
a) high prices
b) low prices
c) extra accessories
d) service contracts
e) warranties
Ans: b
Feedback: One new pricing tactic is to use "special fees" and "surcharges". This practice is driven by consumers' zeal for low prices combined with the ease of making price comparisons on the Internet. Buyers are more willing to pay extra fees than a higher list price, so sellers use add-on charges as a way of having the consumer pay more without raising the list price.
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13. The use of "special fees" and "surcharges" is driven by consumers' zeal for low prices and __________.
a) privacy
b) the ease of making price comparisons on the Internet
c) extra accessories
d) service contracts
e) warranties
Ans: b
Feedback: One new pricing tactic is to use "special fees" and "surcharges". This practice is driven by consumers' zeal for low prices combined with the ease of making price comparisons on the Internet. Buyers are more willing to pay extra fees than a higher list price, so sellers use add-on charges as a way of having the consumer pay more without raising the list price.
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14. The price equation formula is price equals list price minus incentives and allowances plus __________.
a) salaries
b) commissions
c) trade-ins
d) extra fees
e) taxes
Ans: d
The price equation is: price=list price – incentives and allowances + extra fees.

Page: 353, figure 13-1

Learning Objective: 1
15. The price equation formula is price equals __________ minus incentives and allowances plus extra fees.
a) salaries
b) commissions
c) trade-ins
d) list price
e) taxes
Ans: d
Feedback: The price equation is: price=list price – incentives and allowances + extra fees.
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Learning Objective: 1
16. The price equation formula is price equals list price minus __________ plus extra fees.
a) salaries
b) commissions
c) trade-ins
d) incentives and allowances
e) taxes
Ans: d
Feedback: The price equation is: price=list price – incentives and allowances + extra fees.
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Learning Objective: 1
17. A company that manages apartments decides to buy 15 new dishwashers at a list price of $550 each as replacements for old dishwashers in a small apartment complex it owns. Because the company is buying more than 10 dishwashers, it is eligible for a $150 per unit quantity discount. Financing charges total $20 per unit. The company gets $10 per dishwasher for the 15 dishwashers traded in. What is the actual price the company will pay for each dishwasher?
a) $390
b) $400
c) $410
d) $530
e) $560
Ans: c
Feedback: Using the price equation. Price=List price - Incentives and allowances + Extra Fees=$550 - ($150 quantity discount + $10 trade in) + $20 financing=550 - (150 + 10) + 20=$410
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18. Tara is enrolled for the first semester at college. The tuition is $6,000 but she has a scholarship for $1,000 as well as a work study grant of $1,500. The health fees and student activity fees are $150 for the semester. What is the actual price Tara is paying for the spring semester?
a) $2,500
b) $2,650
c) $3,650
d) $5,150
e) $6,150
Ans: c
Feedback: Using the price equation. Tuition=published tuition – (Scholarship, Other financial aid, discounts for number of credits taken) + Special Activity Fees=$6,000 - ($1,000 scholarship + $1,500 work study financial aid) + $150 special activity fees=6,000 - (1,000 + 1,500) + 150=$3,650.
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19. The ratio of perceived benefits to price is called __________.
a) the price-quality relationship
b) prestige pricing
c) value-added pricing
d) value
e) value analysis
Ans: d
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Learning Objective: 1
20. The ratio of __________ to price is called value.
a) perceived benefits
b) prestige value
c) value-added pricing
d) perceived revenue
e) perceived costs
Ans: a
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21. The ratio of perceived benefits to __________ is called value.
a) price
b) prestige value
c) value-added pricing
d) value analysis
e) perceived costs
Ans: a
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22. To increase value marketers may __________.
a) increase price and increase benefits
b) decrease benefits
c) decrease price and increase benefits
d) decrease price and decrease benefits
e) do all of the above
Ans: d
Feedback: To increase value, marketers may increase benefits, decrease price or both increase benefits and decrease price according to the value formula: value=perceived benefits/price.
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23. Value-pricing is __________.
a) the ratio of perceived benefits to price
b) the practice of simultaneously increasing product and service benefits and maintaining or decreasing price
c) the practice of simultaneously increasing product and service benefits and increasing price
d) the ratio of price to perceived benefits
e) list price minus incentives and allowances plus extra fees
Ans: b
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24. Creative marketers engage in __________, the practice of simultaneously increasing product and service benefits and maintaining or decreasing price.
a) revenue sharing
b) diminutive pricing
c) social pricing
d) value-pricing
e) cost-pricing
Ans: d
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25. Creative marketers engage in value-pricing, the practice of simultaneously __________ and maintaining or decreasing price.
a) decreasing product and service benefits
b) analyzing benefits
c) increasing product and service benefits
d) decreasing cost
e) decreasing profit
Ans: c
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26. Creative marketers engage in value-pricing, the practice of simultaneously increasing product and service benefits and __________.
a) increasing costs
b) increasing price
c) advertising more
d) maintaining or decreasing price
e) decreasing costs
Ans: d
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27. Most consumers realize the quality of diamonds varies and most believe the higher the price of the diamond the higher its quality. This is an example of price influencing the perception of overall quality and __________ to consumers.
a) acceptable cost
b) perceptual investment
c) barter potential
d) return on investment
e) value
Ans: e
Feedback: For some products, price influences the perception of overall quality and ultimately value, to consumers.
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28. When Pizza Hut announced it was going to add 25 percent more toppings to its Meat Lover's Line of pizzas without increasing the price, what consumer motivation was it appealing to?
a) Cost
b) Appearance
c) Tangibles
d) Value
e) Prestige
Ans: d
Feedback: By offering more toppings (perceived benefits) for the same price, Pizza Hut was providing value (perceived benefits/price).
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29. A buying situation can involve comparing the costs and benefits of substitute items—such as real sugar to the sugar substitute Equal which, although more expensive than sugar is purchased by many consumers because it contains no calories. This situation involves the consumer considering __________.
a) a marginal analysis
b) a profit equation
c) a break-even analysis
d) price elasticity of demand
e) a reference value
Ans: e
Feedback: Reference value involves comparing the costs and benefits of substitute items.
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30. To calculate __________, you would compute: (unit price x quantity sold) - total cost.
a) total revenue
b) profit
c) marginal revenue
d) average revenue
e) break-even point
Ans: b
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31. A firm's profit equation demonstrates that profit equals __________.
a) total cost + total revenue
b) total revenue - total cost
c) total cost - marginal cost
d) total cost - variable cost
e) total revenue x total cost
Ans: b
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32. According to the profit equation, profit equals total revenue minus __________.
a) marginal cost
b) discounts and allowances
c) total cost
d) variable cost
e) fixed cost
Ans: c
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33. Forever Quilting is a small company that makes quilting kits priced at $120 each. (There is no quantity discount.) The costs of the materials that go into each kit are $45. It costs $5 in labor to assemble a kit. The company has monthly expenses of $1,000 for rent and insurance, $200 for heat and electricity, $500 for advertising in quilting magazines and $4,500 for the monthly salary of its owner. If Forever Quilting sells 150 kits in a given month, its monthly profit will be __________.
a) $4,300
b) $10,500
c) $13,700
d) $11,800
e) $18,000
Ans: a
Feedback: Profit=total revenue - total cost=(unit price x quantity sold) - (fixed cost + variable cost)=$18,000 - ($6200 + $7,500)=$4,300. The variable cost is the labor and materials for each kit ($5 + $45) times the number of kits sold (150 kits) or $50 x 150=$7,500. The fixed costs are $1,000, $200, $500 and $4500=$6200. The profit is $4,300 for the month.
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34. Kelly loves large, warm, fresh pretzels with just a touch of salt and her special spices. She decided to open a small business selling her special creations. She plans to sell the pretzels for $4 each (including the choice of one topping) and each pretzel costs Kelly $1 for the flour and other items she uses to make each pretzel. Her rent is $1000 per month, her electricity and other utilities are $200 and she advertises in the mall paper each month, which costs her $200 a month. She plans to take a small salary of $2000 per month. How much should Kelly tell the bank her monthly profit will be if she sells 6000 pretzels each month?
a) $5000
b) $21,600
c) $18,000
d) $14,600
e) $14,800
Ans: b
Feedback: Profit=total revenue - total cost=(unit price x quantity sold) - (fixed cost + variable cost)=$24,000 - ($3400 + $6,000)=$14,600. The variable cost is the raw material to make each pretzel ($1) times the number of pretzels sold (6000 pretzels) or=$6,000. The fixed costs are $1,000, $200, $200 and $2000=$3400. The profit is $14,600 for the month.
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35. Which of the following is NOT one of the steps included in the six-step process for setting price?
a) Set list or quoted price
b) Estimate the break-even point
c) Identify pricing objectives and constraints
d) Select an approximate price level
e) Make special adjustments to list or quoted price
Ans: b
Feedback: Figure 13-2 shows that the six steps in setting price include: identify pricing constraints and objectives; estimate demand and revenue; determine cost, volume and profit relationships; select an approximate price level; set list or quoted price; and make special adjustments to list or quoted price.
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Learning Objective: 1
36. Which of the following is an example of the elements of Step 1 of the price-setting process, Identify pricing objectives and constraints?
a) Profit, market share and newness of product
b) Demand estimation, sales revenue
c) Cost estimation, break-even analysis
d) Marginal analysis
e) Price elasticity estimation
Ans: a
Feedback: The following are examples of pricing objectives and constraints: objectives like profit, market share and survival, constraints like demand for product class and brand, newness, costs and competition. The following are elements of Step 2, estimate demand and revenue: demand estimation, sales revenue estimation, price elasticity estimation. The following are elements of Step 3, determine cost, volume and profit relationships: cost estimation, marginal analysis-relation to profit, break-even analysis-relation to profit.
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Learning Objective: 1
37. Which of the following is an example of the elements of Step 2 of the price-setting process, Estimate demand and revenue?
a) Profit, market share and newness of product
b) Demand estimation, sales revenue
c) Cost estimation, break-even analysis
d) Marginal analysis
e) Supply of product class and brand
Ans: b
Feedback: The following are examples of pricing objectives and constraints: objectives like profit, market share and survival, constraints like demand for product class and brand, newness, costs and competition. The following are elements of Step 2, estimate demand and revenue: demand estimation, sales revenue estimation, price elasticity estimation. The following are elements of Step 3, determine cost, volume and profit relationships: cost estimation, marginal analysis-relation to profit, break-even analysis-relation to profit.
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38. Which of the following is an example of the elements of Step 3 in the price-setting process, determine cost, volume and profit relationships?
a) profit, market share and newness of product
b) demand estimation, sales revenue
c) cost estimation, break-even analysis
d) sales revenue estimation
e) demand for product class and brand
Ans: c
Feedback: The following are examples of pricing objectives and constraints: objectives like profit, market share and survival, constraints like demand for product class and brand, newness, costs and competition. The following are elements of Step 2, estimate demand and revenue: demand estimation, sales revenue estimation, price elasticity estimation. The following are elements of Step 3, determine cost, volume and profit relationships: cost estimation, marginal analysis- relation to profit, break-even analysis-relation to profit.
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Learning Objective: 1
39. __________ involve(s) specifying the role of price in an organization's marketing and strategic plans.
a) A business mission
b) Pricing constraints
c) Pricing objectives
d) A pricing plan
e) The list or quoted price
Ans: c
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40. Pricing objectives may change depending on __________.
a) the financial position of the company as a whole
b) the success of company products
c) the segments in which the company is doing business
d) where the company is doing business by country
e) all of the above
Ans: e
Feedback: Pricing objectives may change depending on the financial position of the company as a whole, the success of its products or the segments in which it is doing business, including the country in which the product is sold.
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Learning Objective: 2
41. Which of the following is NOT one of the six major pricing objectives discussed in the text?
a) Profit
b) Unit volume
c) Break-even
d) Survival
e) Market share
Ans: c
Feedback: The six major pricing objectives are: profit, sales, market share, unit volume, survival and social responsibility.
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42. Which of the following statements about profit objectives is true?
a) Managers of Japanese cars and TVs have long been praised for their insistence on managing for immediate profits
b) Profit objectives are frequently measured in terms of return on investment or return on assets
c) Firms that are interested in strategic planning set their objectives to maximize current profit
d) A target return pricing objective would only be used by a company that needs to attract more customers to survive
e) Market share and unit volume are two types of profit objectives
Ans: b
Feedback: Profit objectives in a firm are frequently measured in terms of return on investment or return on assets. Firms that use maximizing current profit objectives are taking a short-term view. Alternative d is describing a survival objective—not a target return objective. Alternative e contains two pricing objectives, but these are not profit objectives.
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43. Which of the following statements about pricing objectives is true?
a) Market share and unit volume are synonymous
b) Unit volume is not a type of pricing objective because it is a production strategy
c) A firm that forgoes higher profits and wants to satisfy its obligations to its customers and society in general is pursuing a social responsibility objective
d) Target return is a type of market share objective
e) All of the above statements about pricing objectives are true
Ans: c
Feedback: Market share and unit volume are two distinctly different types of pricing objectives. Target return is a type of profit objective.
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44. Hundreds of global companies are looking to developing economies as sources of __________.
a) trained personnel in information technology
b) outsourced manufacturing
c) new sources of revenue for their products
d) personnel for intellectual work
e) all of the above
Ans: e
Feedback: Broadband connectivity, the explosion of software and search engines and lower-priced computers have made it easy for anyone to do remote development. These elements have created a platform where intellectual work can be delivered from anywhere. Hundreds of global companies are looking to developing economies not only as source of trained personnel in information technology and outsourced manufacturing, but also to generate new revenues from sales of their products and services.
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45. According to Nandan Nilekani, CEO of Infosys, there are a number of fundamental changes in world business including which of the following?
a) Broadband connectivity
b) Outsourcing
c) The explosion of software and search engines
d) Lower-priced computers
e) All of the above are fundamental changes in world business
Ans: e
Feedback: Broadband connectivity, the explosion of software and search engines and lower-priced computers have made it easy for anyone to do remote development. These elements have created a platform where intellectual work can be delivered from anywhere. Hundreds of global companies are looking to developing economies not only as source of trained personnel in information technology and outsourced manufacturing, but also to generate new revenues from sales of their products and services.
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46. An increase in sales will lead to __________.
a) a decrease in profit
b) a decrease in market share
c) an increase in market share and profit
d) more money coming in but also more expenses so profit will be less
e) nothing further. There is no relationship between sales and market share or profit
Ans: c
Feedback: Given that a firm's profit is high enough for it to remain in business, an objective may be to increase sales revenue, which will in turn lead to increases in market share and profit.
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47. When a company divides the sales revenue in a single year obtained by sales of all its competitors plus its own for that same year, it is calculating its __________.
a) unit volume
b) long-run profit
c) current profit
d) market share
e) target return
Ans: d
Feedback: Market share is the ratio of a firm's sales revenues or unit sales to those of the industry (competitors plus the firm itself).
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48. Netflix used to charge $14.99 per month for its movie rental service. However when Blockbuster introduced the same service at $13.99, Netflix then dropped its price to $13.99. Netflix most likely made this price reduction in an attempt to __________.
a) maintain market share
b) decrease revenue but increase profit
c) increase profit by decreasing revenue
d) decrease market share
e) increase efficiency
Ans: a
Feedback: Market share is the ratio of the firm's sales revenues or unit sales to those of the industry (competitors plus the firm itself). Netflix most likely is trying to maintain market share in the face of additional competition from Blockbuster.
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49. If the CEO of the Clorox Company were to say, "We want to control 60 percent of the bleach market within the next five years", he would have set a __________ pricing objective.
a) profit
b) sales
c) unit volume
d) market share
e) social responsibility
Ans: d
Feedback: The CEO has set a numerical target for the percentage of the total bleach market, including his own sales, which is one definition of market share.
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50. __________ is the ratio of the firm's sales revenues or unit sales to those of the industry (competitors plus the firm itself).
a) Target return
b) Marginal profit
c) Unit volume
d) Market share
e) Profit
Ans: d
Feedback: Market share is the ratio of the firm's sales revenues or unit sales to those of the industry (competitors plus the firm itself).
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51. Market share is the ratio of the __________ to those of the industry.
a) target return on sales
b) marginal profit of the firm
c) marketing expenses of the firm
d) firm's sales revenues or unit sales
e) profits of the firm
Ans: d
Feedback: Market share is the ratio of the firm's sales revenues or unit sales to those of the industry (competitors plus the firm itself).
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52. Which of the following statements about unit volume as a pricing objective is true?
a) It is the quantity produced or sold
b) Firms sometimes need to match the unit volume demanded with price
c) Firms sometimes need to match the unit volume demanded with production capacity
d) Using unit volume as an objective can be counterproductive
e) All of the above are true of unit volume
Ans: e
Feedback: Many firms use unit volume, the quantity produced or sold, as a pricing objective. These firms often sell multiple products at very different prices and need to match the unit volume demanded by customers with price and production capacity. Using unit volume as an objective can be counterproductive if a volume objective is achieved by drastic price cutting that drives down profit.
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53. Specialty-toy retailers increasingly are primarily facing __________ because they can't match price cuts by big discount retailers and some are filing for bankruptcy.
a) increasing market share
b) survival problems
c) decreased competition
d) pricing constraints
e) increased demand
Ans: b
Feedback: In some instances, profits, sales and market share are less important objectives of the firm than mere survival. Specialty-toy retailers increasingly are facing survival problems because they can't match price cuts by bid discount retailers like Wal-Mart and Carrefour. 
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54. Which of the following statements about social responsibility as a pricing objective is true?
a) A firm may forgo higher profit on sales to recognize its obligations to society in general
b) Drug pricing is a critical social responsibility issue today
c) Medtronics, maker of the world's first heart pacemaker, followed this pricing objective
d) There is a critical social responsibility issue in setting a price low enough to be affordable, yet high enough to allow companies to recoup their research costs
e) All of the above are true of social responsibility as a pricing objective
Ans: e
Feedback: A firm may forgo higher profit on sales and follow a pricing objective that recognizes its obligations to customers and society in general. Medtronics followed this pricing policy when it introduced the world's first heart pacemaker. A critical social responsibility issues today is drug pricing—setting a price low enough to make the drug affordable by consumers needing it but high enough for drug companies to cover research costs and make a profit.
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55. An analysis of a prospective product shows it is expected to grow by at least 10 percent each year over the next 5 years and then enter the maturity phase of its product life cycle. This type of analysis would provide useful information in which stage of the price-setting process?
a) Identifying pricing objectives and constraints
b) Determining cost, volume and profit relationships
c) Estimating demand and revenue
d) Selecting an appropriate (approximate) price lining strategy
e) Making special adjustments to list or quoted price
Ans: a
Feedback: Expected demand and stage of the product life cycle are pricing constraints and would be information used in the first stage of price setting, identifying pricing objectives and constraints.
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Learning Objective: 2
56. When Super Bean International founded Mr. Bean, they had to determine how they would price the soy milk by examining the demand for the product (would people rather eat home-made or store-bought), the cost of getting the containers for the soy milk and how much it would cost to distribute the product to area stores. In other words, Super Bean International had to begin the development of their pricing strategy by __________.
a) identifying pricing constraints
b) estimating break-even points and revenue points
c) setting list price
d) selecting an approximate price level
e) determining profit relationships
Ans: a
Feedback: In their pricing decision, Super Bean International had to identify restrictions or "constraints" that limit the range of prices they could charge. The two primary constraints Super Bean International faces are identifying demand for the product and the cost of producing and marketing the product.
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Learning Objective: 2
57. Factors that limit the range of prices a firm may set are called __________.
a) pricing objectives
b) pricing restraints
c) pricing constraints
d) pricing elasticity
e) the pricing environment
Ans: c
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58. Pricing constraints are __________.
a) barriers that must be overcome in order to set pricing objectives
b) competitive pricing advantages one firm has over another
c) different pricing strategies for each of the firm's products
d) factors that limit the range of prices a firm may set
e) another name for demand curves
Ans: d
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Learning Objective: 2
59. Which term describes factors that affect price and include: newness of the product, whether it is part of a product line and cost of changing a price?
a) Price fixings
b) Pricing constraints
c) Price elasticities
d) Pricing demands
e) Pricing margins
Ans: b
Feedback: Factors such as demand for the product class, product and brand, newness of the product, single product versus a product line, cost of producing and marketing the product, cost of changing prices, type of competitive markets and competitors' prices limit the range of prices a firm may set and are referred to as pricing constraints.
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60. The newer a product and the earlier it is in its life cycle, __________.
a) the lower the price the firm must charge
b) the more competition it has
c) the higher is the price that can usually be charged
d) the lower the production costs
e) the lower the unit variable cost
Ans: c
Feedback: Early in the product life cycle a firm can often charge a higher price because there are few, if any, substitutable products—an example of one of the pricing constraints the firm should consider.
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61. Which of the following factors would act as a constraint on pricing?
a) We are dealing with a necessity type of good
b) The product is in the maturity stage of its product life cycle
c) The competitive environment is an oligopoly
d) Competitors' prices average $300 per unit
e) All of the above factors would act as constraints on pricing
Ans: e
Feedback: The constraints listed in the text are demand for the product class, product and brand; newness of the product; stage of the product life cycle; single product versus a product line; cost of producing and marketing the product; cost of changing prices and time period they apply; type of competitive markets; and competitors' prices.
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62. Which of the following statements about demand as a pricing constraint is true?
a) The number of potential buyers for the product class affects the price a seller can charge
b) The number of potential buyers for the product affects the price a seller can charge
c) The number of potential buyers for the brand affects the price a seller can charge
d) Whether the item is a luxury or a necessity affects the price a seller can charge
e) All of the above are true
Ans: e
Feedback: The number of potential buyers for the product class, product and brand affect the price a seller can charge. So does whether the item is a luxury or a necessity. Generally, the greater the demand for a product, the higher the price that can be set.
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63. Which of the following statements about the product life cycle as a pricing constraint is true?
a) The newer a product is the higher the price that can usually be charged
b) The earlier in the product life cycle the product is, the higher the price that can usually be charged
c) Prices may rise later in the product's life cycle if nostalgia is a factor
d) Prices may rise later in the product's life cycle if the product is a fad
e) All of the above are true with respect to the product life cycle as a pricing constraint
Ans: e
Feedback: The newer a product and earlier in the life cycle the product is, the higher the price that can usually be charged. Prices may rise later in the product's life cycle if nostalgia or fad factors come into play.
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64. Which of the following statements about the product life cycle as a pricing constraint is true?
a) The newer a product is the higher the price that can usually be charged
b) The later in the product life cycle the product is, the higher the price that can usually be charged
c) Prices may be lower later in the product's life cycle if nostalgia is a factor
d) Prices may be lower later in the product's life cycle if the product is a fad
e) All of the above are true with respect to the product life cycle as a pricing constraint
Ans: a
Feedback: The newer a product and earlier in the life cycle the product is, the higher the price that can usually be charged. Prices may rise later in the product's life cycle if nostalgia or fad factors come into play.
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65. Which of the following statements about the product life cycle as a pricing constraint is true?
a) The older a product is the higher the price that can usually be charged
b) The earlier in the product life cycle the product is, the higher the price that can usually be charged
c) Prices may be lower later in the product's life cycle if nostalgia is a factor
d) Prices may be lower later in the product's life cycle if the product is a fad
e) All of the above are true with respect to the product life cycle as a pricing constraint
Ans: b
Feedback: The newer a product and earlier in the life cycle the product is, the higher the price that can usually be charged. Prices may rise later in the product's life cycle if nostalgia or fad factors come into play.
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66. Which of the following statements about the product life cycle as a pricing constraint is true?
a) The older a product is the higher the price that can usually be charged
b) The later in the product life cycle the product is, the higher the price that can usually be charged
c) Prices may rise later in the product's life cycle if nostalgia is a factor
d) Prices may be lower later in the product's life cycle if the product is a fad
e) All of the above are true with respect to the product life cycle as a pricing constraint
Ans: c
Feedback: The newer a product and earlier in the life cycle the product is, the higher the price that can usually be charged. Prices may rise later in the product's life cycle if nostalgia or fad factors come into play.
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67. Which of the following statements about the product life cycle as a pricing constraint is true?
a) The older a product is the higher the price that can usually be charged
b) The later in the product life cycle the product is, the higher the price that can usually be charged
c) Prices may be lower later in the product's life cycle if nostalgia is a factor
d) Prices may rise later in the product's life cycle if the product is a fad
e) All of the above are true with respect to the product life cycle as a pricing constraint
Ans: d
Feedback: The newer a product and earlier in the life cycle the product is, the higher the price that can usually be charged. Prices may rise later in the product's life cycle if nostalgia or fad factors come into play.
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68. Prices of collectibles, such as toys or old sneakers, are set by demand and supply forces. For fad items, the prices __________.
a) will always go up
b) can fluctuate wildly
c) remain fairly constant
d) decline and eventually go to zero
e) will decline however not go to zero
Ans: b
Feedback: Prices of collectibles, such as toys or old sneakers, are set by demand and supply forces discussed in the chapter. And for fads, the prices can fluctuate wildly.

Page: 358

Learning Objective: 2
69. Imagine you have some extra cash and would like to invest in something that will give you some extra money while you look for a job after graduation. If you invest $100 in an original limited edition DVD signed by Mariah Carey, should remember that its price is most closely tied to __________.
a) whether it is listed on the eBay website
b) the price at the same time last year because of seasonal factors
c) the price a decade ago because of long-term trend factors
d) the relation of its changing price to gross domestic product
e) supply and demand
Ans: e
Feedback: Prices of collectibles, such as toys, music albums or old sneakers, are set by demand and supply forces discussed in the chapter. And for fads, the prices can fluctuate wildly. Many prices are falling. To get some recent collectible prices, visit www.ebay.com.
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70. Which pricing constraint is demonstrated by the following statement: "Most public utilities must petition regulatory commissions in order to obtain a rate increase".
a) Demand for the product, class or brand
b) Newness of product in the life cycle
c) Costs of production
d) Type of competitive markets
e) Single product versus a product line
Ans: d
Feedback: The seller's price is constrained by the type of competitive market in which it competes; a monopoly in this case.
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71. Using Figure 13-4 how much price competition is most likely available for bushels of wheat?
a) There is a range of prices at which to sell
b) The market sets the price so there is no price competition
c) There is a price leader in the farming industry that sets the price
d) Since there is only one seller, that firm sets the price
e) None of the above is true
Ans: b
Feedback: Wheat, like corn is identical so it is sold in a purely competitive market. There is almost no price competition because the market sets the price.
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72. Using Figure 13-4 how much price competition is most likely available for small coffee shops?
a) There is almost none; the market sets the price
b) There is some competition within a range of prices
c) There is generally a price leader that sets the price
d) Starbucks sets the price and all other coffee shops follow its lead
e) None of the above is true
Ans: b
Feedback: Regional or local, privately owned coffee shops compete with chains like Starbucks. Both price competition and non-price competition exist. However the price competition is generally within a range of prices.
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73. Using Figure 13-4 how much price competition is most likely available for video game makers?
a) There is almost none; the market sets the price
b) There is some competition within a range of prices
c) There is generally a price leader that sets the price
d) Microsoft, Sony and Nintendo are aware of each other's prices and may adjust their prices based on the prices of the other 2 firms
e) None of the above is true
Ans: d
Feedback: Firms in oligopolies stay aware of a competitor's price cuts or increases and may follow suit. This is true of the video game industry.
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74. __________ is the competitive market situation in which one seller sets the price for a unique product.
a) Pure monopoly
b) Oligopoly
c) Monopolistic competition
d) Pure competition
e) Monopolistic oligopoly
Ans: a
Page: 359, figure 13-4
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75. If competitive market circumstances are such that there is no price competition, no product differentiation and the purpose of advertising is to increase demand for the product class, then __________ must exist in the industry.
a) a pure monopoly
b) an oligopoly
c) monopolistic competition
d) pure competition
e) oligopolistic competition
Ans: a
Feedback: In a pure monopoly, there is no price competition, no product differentiation and the purpose of advertising is to increase demand for the product class.
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76. Before M1 and Starhub came into existence, Singtel was the sole provider of telephone services in Singapore. Singtel was acting as a(n) __________. 
a) free enterprise firm
b) pure monopoly
c) oligopoly
d) monopolistic competitor
e) competitor in a pure competition
Ans: b
Feedback: Figure 13-4 describes a pure monopoly as a market with one seller who sets the price for a unique product.
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77. The former Soviet republic Turkmenistan is in Central Asia and is one of the last countries on the planet to gain Internet access. The only Internet service provider for the entire country is Turkmen Telecom. There is no need for price competition, promotion competition or product differentiation because Turkmen Telecom is a(n) __________.
a) free enterprise
b) pure monopoly
c) oligopoly
d) monopolistic competitor
e) pure competitor
Ans: b
Page: 359, figure 13-4
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78. The marketing director for a(n) __________ is most likely to believe, "The purpose of advertising is to increase demand for the product class".
a) pure monopoly
b) oligopoly
c) monopolistic competitor
d) pure competitor
e) competitive oligopoly
Ans: a
Feedback: The extent of advertising for a pure monopoly is to increase demand for the product class.
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79. The competitive market situation in which the few sellers are sensitive to one another's prices is called __________.
a) pure monopoly
b) oligopoly
c) monopolistic competition
d) pure competition
e) oligopolistic competition
Ans: b
Page: 359, figure 13-4
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80. If competitive market circumstances are such that there is some leader-follower price competition, some product differentiation and the purpose of advertising is to inform, but avoid price competition, then __________ must exist in the industry.
a) a pure monopoly
b) an oligopoly
c) monopolistic competition
d) pure competition
e) monopolistic oligopoly
Ans: b
Feedback: The few sellers in an oligopoly try to avoid price competition because it can lead to disastrous price wars in which all lose money. Yet firms in such industries stay aware of a competitor's price cuts or increases and may follow suit. The products can be undifferentiated or differentiated and informative advertising that avoids head-to-head price competition is used.
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81. Go to any supermarket and walk to the cereal aisle. You will notice four brands—Kellogg's, Quaker, General Mills and Post—seem to occupy most of the shelf space. These cereals are all priced about the same. There is a good deal of product differentiation as the result of licensing agreements that have created a line of Disney and other licensed cereals and through the use of different health claims. This information illustrates that the cereal industry is an example of __________.
a) a pure monopoly
b) an oligopoly
c) monopolistic competition
d) pure competition
e) monopolistic oligopoly
Ans: b
Feedback: An oligopoly is a type of competition where there are few sellers who are sensitive to each other's prices. The few sellers in an oligopoly try to avoid price competition because it can lead to disastrous price wars in which all lose money. Yet firms in such industries stay aware of a competitor's price cuts or increases and may follow suit. The products can be undifferentiated or differentiated and informative advertising that avoids head-to-head price competition is used.
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82. If competitive market circumstances are such that there are few sellers who are sensitive to each other's prices and the purpose of advertising is to inform but avoid price competition, then __________ must exist in the industry.
a) a pure monopoly
b) an oligopoly
c) monopolistic competition
d) pure competition
e) oligopolistic competition
Ans: b
Feedback: An oligopoly is a type of competition where there are few sellers who are sensitive to each other's prices. The few sellers in an oligopoly try to avoid price competition because it can lead to disastrous price wars in which all lose money. Yet firms in such industries stay aware of a competitor's price cuts or increases and may follow suit. The products can be undifferentiated or differentiated and informative advertising that avoids head-to-head price competition is used.
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83. The competitive market situation in which many sellers compete on non-price factors is called __________.
a) a pure monopoly
b) an oligopoly
c) monopolistic competition
d) pure competition
e) monopolistic oligopoly
Ans: c
Page: 359, figure 13-4

Learning Objective: 2
84. In which type of industry would a marketing director be most likely to say, "The purpose of our advertising is to differentiate our firm's products from our competitors' products".
a) Pure monopoly
b) Oligopoly
c) Monopolistic competition
d) Pure competition
e) Monopolistic oligopoly
Ans: c
Feedback: Figure 13-5 shows that the purpose of advertising in monopolistic competition is to differentiate the firm's products from those of competitors.
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85. There are over 100 companies that manufacture natural and artificial flavorings used to enhance the taste of food before it is sold to consumers. Many of these manufacturers are regional operations. Many differentiate themselves in their advertising from the competition by specializing in one or two types of foods for which they provide flavorings. Some use their distribution strategies as a means of differentiating themselves from their competition. This industry is most likely an example of __________.
a) pure monopoly
b) oligopoly
c) monopolistic competition
d) bilateral monopoly
e) monopolistic oligopoly
Ans: c
Feedback: Figure 13-5 shows that the purpose of advertising in monopolistic competition is to differentiate the firm's products from those of competitors and that there are many sellers who compete on non-price factors.
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86. The competitive market situation in which the many sellers compete on nonprice factors is called __________.
a) pure monopoly
b) oligopoly
c) monopolistic competition
d) pure competition
e) oligopolistic competition
Ans: c
Feedback: Figure 13-4 shows that the purpose of advertising in monopolistic competition is to differentiate the firm's products from those of competitors and that there are many sellers who compete on non-price factors.
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87. The competitive market situation in which many sellers follow the market price for identical, commodity products is called __________.
a) pure monopoly
b) oligopoly
c) monopolistic competition
d) pure competition
e) oligopolistic competition
Ans: d
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88. If competitive market circumstances are such that there is almost no price competition, no product differentiation and the only advertising informs prospects the product is available, then _________ must exist in this industry.
a) a pure monopoly
b) an oligopoly
c) monopolistic competition
d) pure competition
e) monopolistic oligopoly
Ans: d
Feedback: Figure 13-4 describes pure competition as many sellers who follow the market price for identical, commodity products. The purpose of advertising is to inform prospects that seller's products are available.
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89. The marketplace sets the price for wheat, so farmers who are trying to sell their wheat crops don't have to create a pricing strategy. The wheat is sold in a(n) __________ market.
a) oligopoly
b) pure monopoly
c) pure competition
d) monopolistic competition
e) monopolistic oligopoly
Ans: c
Feedback: Figure 13-4 describes pure competition as many sellers who follow the market price for identical, commodity products. The purpose of advertising is to inform prospects that seller's products are available.
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90. A manufacturing company that introduces a product must know or anticipate what specific price its __________ currently charge or will charge in the future.
a) information technology departments
b) subsidiary manufacturing divisions
c) previous industry relations
d) present and potential competitors
e) government bureaus and labor unions require it to
Ans: d
Feedback: A firm must know or anticipate what specific price its present and potential competitors are charging now or will charge.
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91. Marketing executives must translate estimates of customer demand into estimates of __________.
a) personnel requirements
b) advertising expenditures
c) public relations efforts
d) revenues the firm expects to receive
e) none of the above
Ans: d
Feedback: Basic to setting a product's price is the extent of customer demand for it. Marketing executives must also translate this estimate of customer demand into estimates of revenues the firm expects to receive.
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92. Newsweek ran a pricing experiment that involved setting different prices for its magazine in different cities and counting the number of units sold. After adjusting for factors like the population of the different cities, Newsweek could plot these prices and units to result in a __________.
a) target return curve
b) demand curve
c) unit volume curve
d) consumer tastes curve
e) supply curve
Ans: b
Feedback: A demand curve is a graph relating the quantity sold and price, which shows the maximum number of units that will be sold at a given price.
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93. A demand curve shows __________.
a) the total number of buyers for all products in a particular industry
b) the total sales for specified product lines, usually over a three-year period
c) a maximum number of products consumers will buy at a given price
d) anticipated marginal revenue obtained under specified customer demand conditions
e) the opposing axis on a profit equation projection
Ans: c
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94. The maximum quantity of products consumers will buy at given price is shown by __________.
a) a demand curve
b) a price constraint
c) a break-even point
d) price lining
e) a marginal revenue curve
Ans: a
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95. Which of the following statements about the factors that influence demand is true?
a) As the availability of close substitutes increases, the demand for a product increases
b) As real consumer income increases, demand for a product increases
c) As the price of close substitutes increases, demand for a product declines
d) Changing consumer tastes have little impact on demand for a product
e) All of the above statements about the factors that influence demand are true
Ans: b
Feedback: As the price of close substitute products falls and their availability increases, the demand for a product also increases. Changing consumer tastes have a major impact on demand for a product. In general, as real consumer income increases, demand for a product also increases.
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96. Factors that determine consumers' willingness and ability to pay for goods and services are called __________.
a) economic environmental factors
b) the "misery index"
c) demand factors
d) elasticity factors
e) consumer income
Ans: c
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97. Demand factors are factors that determine __________.
a) the number of consumers who can afford to purchase a product or service
b) the price that should be charged for a given product
c) consumers' willingness and ability to pay for goods and services
d) the number of consumers who want to purchase a product
e) the number of consumers who can purchase a product
Ans: c
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98. There are a lot of skateboards on the market, but the BMW Streetcarver is the only one with stabilizers and wheel design based on BMW's automobile. This technology gives the BMW Streetcarver better control at high speeds and around sharp turns than any other brand. The skateboard is priced at US$495, which leaves many consumers (especially young males) who might want to buy the Streetcarver unable to afford it. This inability to pay for the high-priced BMW-made skateboard shows the effect of __________ on sales.
a) demand factors
b) macroeconomic environmental factors
c) the consumer index
d) supply factors
e) exchange parameters
Ans: a
Feedback: Demand factors are factors that determine consumers' willingness and ability to pay for goods.
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99. Indofood is a company that sells many different types of instant noodles. Its price of S$2.50 for 5 packets of hot and spicy noodles seems just right to consumers who savor its hot and spicy taste. The popularity of hot and spicy food is an example of a(n) __________ that Indofood has used to make its product a success.
a) exchange parameter
b) demand factor
c) supply factor
d) consumer index
e) macroeconomic environmental factor
Ans: b
Feedback: Demand factors are factors that determine consumers' willingness and ability to pay for goods. The popularity of hot and spicy food has increased consumers' willingness to pay.
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100. Figure 13-5A shows that when the price moves from US$2.00 to US$1.50 per unit, the quantity demanded __________.
a) increases from 3.0 to 4.5 million units per year
b) decreases from 4.5 to 3.0 million units per year
c) stays the same
d) increases from 3.0 to 7.5 million units per year
e) decreases from 7.5 to 3.0 million units per year
Ans: a
Feedback: The demand curve shows that as the price is lowered from $2.00 to $1.50 per issue, the quantity demanded increases from 3.0 million to 4.5 million units per year.
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101. Figure 13-5A shows that when the quantity demanded moves from 3.0 to 4.5 million units, the profit __________.
a) increases from US$1.50 to US$2.00 per unit
b) decreases from US$2.00 to US$1.50 per unit
c) stays the same per unit
d) increases from US$.50 to US$1.50 per unit
e) figure 13-5A does not indicate what happens to profit when the quantity demanded moves
Ans: e
Feedback: The demand curve shows that as the price is lowered from US$2.00 to US$1.50 per issue, the quantity demanded increases from 3.0 million to 4.5 million units per year. It does not show any relationship with profit.
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102. Figure 13-5B shows that when the quantity demanded moves from 3.0 to 6 million units, the profit __________.
a) increases from US$1.50 to US$2.00 per unit
b) decreases from US$2.00 to US$1.50 per unit
c) stays the same per unit
d) increases from US$.50 to US$1.50 per unit
e) figure 13-5B does not indicate what happens to profit when the quantity demanded moves
Ans: e
Feedback: The shift in the demand curve shows that the quantity demanded increases without reducing the price. It does not show any relationship with profit.
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103. Which of the following statements most likely would account for the shift in the demand curve shown in Figure 13-5?
a) Consumer tastes change
b) The price of substitutes changes
c) The availability of substitutes changes
d) Consumer income changes
e) All of the above may account for the shift in the demand curve shown in Figure 13-5
Ans: e
Feedback: The shift in the demand curve shows that the quantity demanded increases without reducing the price. This may be due to a change in consumer tastes, the price and availability of substitutes and a change in consumer income.
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104. A shift of the demand curve from D2 to D1 in Figure 13-5B indicates __________.
a) more units are demanded at a given price
b) fewer units are demanded at a given price
c) the price has decreased
d) the price has increased
e) there is not enough information given to indicate what happened
Ans: e
Feedback: The shift in the demand curve from D2 to D1 shows that the quantity demanded decreased without reducing or increasing the price. This may be due to a change in consumer tastes, the price and availability of substitutes and a change in consumer income.
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105. Movement along the demand curve is illustrated by which of the following?
a) As the price is lowered, the quantity demanded increases, assuming all else stays the same
b) As the price is raised, the quantity demanded increases, assuming all else stays the same
c) As the amount of advertising increases, the quantity demanded decreases, assuming all else stays the same
d) As the amount of advertising increases, the quantity demanded increases, assuming all else stays the same
e) As consumer incomes rise, the quantity demanded decreases, assuming all else stays the same
Ans: e
Feedback: As the price is lowered the quantity demanded increases assuming that other factors such as consumer tastes, price and availability of substitutes and consumer income remain unchanged.
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106. A shift in the demand curve is illustrated by which of the following?
a) As the price is lowered, the quantity demanded increases, assuming all else stays the same
b) As the price is raised, the quantity demanded increases, assuming all else stays the same
c) As the amount of advertising increases, the quantity demanded increases, assuming all else stays the same
d) As the amount of advertising increases, the price decreases, assuming all else stays the same
e) As consumer incomes rise, the price decreases, assuming all else stays the same
Ans: c
Feedback: A shift in the demand curve causes the quantity demanded to increase or decrease. This is most likely due to other factors rather than price such as changing consumer tastes, the price and availability of substitutes and consumer income changes.
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107. At a price of $3 each, a magazine sells 1.25 million copies of its magazine targeted to young women. If the price is increased to $3.25 each, only 1 million copies will be sold. Fixed costs are $1 million and unit variable costs are $0.50 per magazine. For the information provided here, what is the magazine's total revenue obtained at the higher price?
a) $3,750,000
b) $3,250,000
c) $2,125,000
d) $1,625,000
e) $675,000
Ans: b
Feedback: Total revenue=unit price x quantity sold. Total revenue at the higher price is equal to the price of $3.25 x 1,000,000 copies or $3,250,000.
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108. At a price of $3 each, a magazine sells 1.25 million copies of its magazine targeted to young women. If the price per issue is increased to $3.25 each, only 1 million copies will be sold. Fixed costs are $1 million and unit variable costs are $0.50 per magazine. For the information provided here, what is the magazine's total revenue obtained at the lower price?
a) $3,750,000
b) $3,000,000
c) $2,125,000
d) $1,625,000
e) $675,000
Ans: a
Feedback: Total revenue=unit price x quantity sold. Total revenue at the lower price is equal to the price of $3.00 x 1,250,000 copies or $3,750,000.
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109. Forever Quilting is a small company that makes quilting kits priced at $120 each. (There is no quantity discount.) The costs of the materials that go into each kit are $45. It costs $5 in labor to assemble a kit. The company has monthly expenses of $1,000 for rent and insurance, $200 for heat and electricity, $500 for advertising and $4,500 for the monthly salary of its owner. Last month the company sold 150 kits. Forever Quilting's total revenue for the month was __________.
a) $3,500
b) $6,750
c) $7,500
d) $10,500
e) $18,000
Ans: e
Feedback: Total revenue is the unit price multiplied by the quantity sold. In this case: $120 x 150 kits=$18,000.
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110. Fisher Scientific is a small company that makes materials for safely controlling hazardous spills of all kinds. It sells these items as a neutralizing kit that priced at $120 each. (There is no quantity discount.) The costs of the materials that go into each kit are $45. It costs $5 in labor to assemble a kit. The company has monthly expenses of $1,000 for rent and insurance, $200 for heat and electricity, $500 for advertising in trade journals and $3,500 for the monthly salary of its owner. Fisher Scientific’s average revenue per unit is __________.
a) $30
b) $50
c) $70
d) $120
e) $3,500
Ans: d
Feedback: Average revenue is the average amount of money received for selling one unit of the product or simply the price of this unit-in this case, $120.
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111. At a price of $4 each, SH(PE magazine sells 1.25 million copies of its magazine targeted to young women seeking a healthier lifestyle. If the price per issue is increased to $4.50 each, only 1 million copies will be sold. Fixed costs are $1 million and unit variable costs are $0.50 per magazine. Calculate the average revenue for SH(PE magazine at the higher price.
a) $.50
b) $1.25
c) $4.00
d) $4.50
e) $5.68
Ans: d
Feedback: Average revenue is the average amount of money received for selling one unit of the product or simply the price of this unit-in this case $4.50.

Page: 363, figure 13-6

Learning Objective: 3
112. Marginal revenue is __________.
a) monies made after all fixed costs are covered
b) monies made after fixed and variable costs are covered
c) the amount by which marginal costs exceed fixed costs
d) the profit made on an additional unit of product sold
e) the slope of the total revenue curve
Ans: e
Page: 363, figure 13-6

Learning Objective: 3
113. Forever Quilting is a company that designs and distributes quilting kits. The kits are priced at $120 each. (There is no quantity discount.) The costs of the materials that go into each kit are $45. It costs $5 in labor to assemble a kit. The company has monthly expenses of $1,000 for rent and insurance, $200 for heat and electricity, $500 for advertising in quilting magazines and $3,500 for the monthly salary of its owner. Forever Quilting's marginal revenue is __________.
a) $50
b) $120
c) $170
d) $3,500
e) $5,200
Ans: b
Feedback: Marginal revenue is the change in total revenue by selling one additional unit-in this case one quilting kit—which is priced at $120.
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Learning Objective: 3
114. The change in total revenue obtained by selling one additional unit is called __________.
a) Demand revenue
b) Median revenue
c) Average revenue
d) Marginal revenue
e) Marginal cost
Ans: d
Page: 363, figure 13-6

Learning Objective: 3
115. At a price of $3 each, SH(PE magazine sells 1.25 million copies of its magazine targeted to young women seeking a healthier lifestyle. If the price per issue is increased to $3.25 each, only 1 million copies will be sold. Fixed costs are $1 million and unit variable costs are $0.50 per magazine. Calculate the marginal revenue for SH(PE magazine at the higher price.
a) $.50
b) $1.25
c) $1.65
d) $3.00
e) $3.25
Ans: e
Feedback: Marginal revenue is the addition to revenue by selling one more unit. Because each additional unit sold brings in $3.25 more, the marginal revenue is $3.25 per unit, which is also the average revenue per unit and price per unit for this problem.
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116. Figure13-7 shows that to maximize revenue Newsweek should price its magazine (in US$) at __________.
a) $2.50
b) $2.00
c) $1.50
d) $1.00
e) $.50
Ans: c
Feedback: Figure 13-7 shows that at point D (a price of US$1.50 and quantity of 4.5 million) the total revenue is at its maximum of US$6,750,000.
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117. Figure 13-7 shows that the average revenue at point C (in US$) is __________.
a) $3.00
b) $2.50
c) $2.00
d) $1.50
e) $1.00
Ans: c
Feedback: Average revenue is defined as total revenue divided by quantity or price. At point C the price is US$2.00
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Learning Objective: 3
118. What is the price of Newsweek (in US$) when marginal revenue is $0?
a) $0
b) $.50
c) $1.00
d) $1.50
e) $2.00
Ans: d
Feedback: According to Figure 13-7, the chart shows that when marginal revenue is $0, price is $1.50.
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119. When the price of Newsweek is US$1.00 per issue, how many magazines will it sell?
a) 1,500,000
b) 3,000,000
c) 4,500,000
d) 6,000,000
e) 7,500,000
Ans: d
Feedback: According to Figure 13-7, the chart shows that when the price of Newsweek is US$1.00 it will sell 6,000,000.
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120. If Newsweek raises its price from US$2.00 per issue to US$2.50 per issue, what happens to total revenue according to Figure 13-7?
a) Total revenue goes up
b) Total revenue goes down
c) Total revenue stays the same
d) Total revenue is not related to the price
e) It is impossible to tell from the information given in the figure
Ans: b
Feedback: In Figure 13-7, both the chart and the total revenue graph show that as the price moves from C (US$2.00) to B (US$2.50) the total revenue declines.
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121. By 2007, how many orders did Boeing have for the $300-million Dreamliner?
a) 100
b) 200
c) 250
d) 500
e) 710
Ans: e
Feedback: The price for a new airliner is about $300 million and for that price Boeing has about 710 orders.
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Learning Objective: 3
122. There are only a few companies like Airbus Industries and Boeing that manufacture commercial planes. Airbus is trying to differentiate itself from the competition by building the largest airplanes while Boeing is trying to build the most efficient planes. Companies in this industry do not want to engage in price wars. Airbus and Boeing are operating in __________.
a) an oligopoly
b) a pure monopoly
c) pure competition
d) monopolistic competition
e) monopolistic oligopoly
Ans: a
Feedback: Boeing and Airbus operate in an industry where few sellers are sensitive to each other's prices. The purpose of advertising is to inform but avoid price competition. This is the definition of an oligopoly.
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Learning Objective: 2
123. Other things equal, if a firm finds the demand for one of its products is inelastic, it can increase its total revenues by __________.
a) raising its price
b) lowering its price
c) reducing fixed costs
d) reducing variable costs
e) reducing both fixed and variable costs
Ans: a
Feedback: With inelastic demand, price reduction causes the quantity sold to increase but total revenue actually decreases. So with inelastic demand while a price increase causes the quantity sold to decrease, the total revenue increases.
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Learning Objective: 4
124__________ is the percentage change in quantity demanded relative to (divided by) the percentage change in price.
a) Marginal revenue
b) Price elasticity of demand
c) Average demand
d) Marginal demand
e) Demand shift
Ans: b
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Learning Objective: 4
125. Which of the following statements about price elasticity of demand is true?
a) Price elasticity with unitary demand is less than 1
b) The more substitutes a product has, the less likely it is to be price elastic
c) With inelastic demand, a reduction in price increases total revenue
d) With inelastic demand, price elasticity is less than 1
e) None of the above statements about price elasticity of demand is true
Ans: d
Feedback: Price elasticity with unitary demand is equal to 1. The more substitutes a product has, the more likely it is to be price elastic. Items that require a large cash outlay compared with a person's disposable income are price elastic. Price elasticity with inelastic demand is less than one. Price elasticity with elastic demand is greater than one. With inelastic demand, reducing price decreases total revenue.
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Learning Objective: 4
126. Which of the following statements about price elasticity of demand is true?
a) Price elasticity with unitary demand is equal to 1
b) The more substitutes a product has, the less likely it is to be price elastic
c) With inelastic demand, a reduction in price increases total revenue
d) With inelastic demand, price elasticity is greater than 1
e) None of the above statements about price elasticity of demand is true
Ans: a
Feedback: Price elasticity with unitary demand is equal to 1. The more substitutes a product has, the more likely it is to be price elastic. Items that require a large cash outlay compared with a person's disposable income are price elastic. Price elasticity with inelastic demand is less than one. Price elasticity with elastic demand is greater than one. With inelastic demand, reducing price decreases total revenue.
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127. Which of the following statements about price elasticity of demand is true?
a) Price elasticity with unitary demand is greater than 1
b) The more substitutes a product has, the more likely it is to be price elastic
c) With inelastic demand, a reduction in price increases total revenue
d) With inelastic demand, price elasticity is greater than 1
e) None of the above statements about price elasticity of demand is true
Ans: b
Feedback: Price elasticity with unitary demand is equal to 1. The more substitutes a product has, the more likely it is to be price elastic. Items that require a large cash outlay compared with a person's disposable income are price elastic. Price elasticity with inelastic demand is less than one. Price elasticity with elastic demand is greater than one. With inelastic demand, reducing price decreases total revenue.
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128. Which of the following statements about price elasticity of demand is true?
a) Price elasticity with unitary demand is greater than 1
b) The more substitutes a product has, the less likely it is to be price elastic
c) With inelastic demand, an increase in price increases total revenue
d) With inelastic demand, price elasticity is greater than 1
e) None of the above statements about price elasticity of demand is true
Ans: c
Feedback: Price elasticity with unitary demand is equal to 1. The more substitutes a product has, the more likely it is to be price elastic. Items that require a large cash outlay compared with a person's disposable income are price elastic. Price elasticity with inelastic demand is less than one. Price elasticity with elastic demand is greater than one. With inelastic demand, reducing price decreases total revenue.
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Learning Objective: 4
129. A specific choice, perhaps one of 20 choices, in a snack vending machine is __________.
a) more likely to be price elastic than price inelastic
b) an ideal example of unitary demand
c) likely to have a price elasticity equal to 1
d) likely to have a price elasticity less than 1
e) more likely to be price inelastic than price elastic
Ans: a
Feedback: The more substitutes a product has, the more likely it is to be price elastic. In many snack machines today, the buyer has more than two dozen choices—making the demand more elastic.
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130. At a price of $3 each, a magazine sells 1.25 million copies of its magazine targeted to young women seeking a healthier lifestyle. If the price per issue is increased to $3.25 each, only 1 million copies will be sold. For the information provided, the price elasticity of demand for the magazine in this price range can be described as __________.
a) inelastic demand
b) elastic demand
c) unitary demand
d) null elasticity
e) subsidized elasticity
Ans: b
Feedback: Price elasticity of demand is the percentage change in quantity demanded relative to the percentage change in price. Here reducing price from $3.25 per issue to $3.00 increases total revenue, making demand elastic in this price range.
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131. Recently some parts of China experienced a drought condition. For example in Henan province, water usage was restricted. Yet even though most people used less water, the price of water did not drop. In fact, when the drought was over, the water company actually raised water prices. Still, residents of Henan province did not use less water. Water is __________.
a) price inelastic
b) price elastic
c) price sensitive
d) price insensitive
e) unitary elastic
Ans: a
Feedback: Demand is price inelastic when a 1 percent decrease in price produces less than a 1 percent increase in quantity demanded, thereby actually decreasing sales revenue. Slight increases or decreases in price will not significantly affect the demand for water.
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Learning Objective: 4
132. Demand for a product is likely to be more price elastic if __________.
a) it is considered a necessity
b) it has many substitutes
c) it has few substitutes
d) its price is low relative to a product with which it must be used
e) none of the above is true
Ans: b
Feedback: The more substitutes a product or service has, the more likely it is that demand will be elastic.
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133. Several companies produce latex gloves that are used in a variety of different industries. If one of the glove manufacturers decreases its price by just a few percentage points, it will result in a significant increase in quantity demanded. The demand for latex gloves is __________.
a) synergistic
b) elastic
c) inelastic
d) holistic
e) entropic
Ans: b
Feedback: Elastic demand exists when a 1 percent decrease in price produces more than a 1 percent increase in quantity demanded, thereby actually increasing sales revenue.
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134. Elastic demand exists when a(n) __________.
a) a small percentage decrease in price produces a smaller percentage increase in quantity demanded and total revenue falls
b) a small percentage decrease in price produces a larger percentage increase in quantity demanded and total revenue increases
c) an increase in price causes a larger increase in quantity demanded and total revenue falls to zero
d) the quantity demanded remains the same regardless of level of price and total revenue is unchanged
e) a small percentage decrease in price produces a smaller percentage decrease in quantity demanded and total revenue increases
Ans: b
Page: 365-366

Learning Objective: 4
135. Inelastic demand exists when __________.
a) a small percentage decrease in price produces a smaller percentage increase in quantity demanded and total revenue falls
b) a small percentage decrease in price produces a larger percentage increase in quantity demanded and total revenue falls
c) an increase in price causes a larger increase in quantity demanded and total revenue falls to zero
d) the quantity demanded remains the same regardless of level of price and total revenue is unchanged
e) a small percentage decrease in price produces a smaller percentage decrease in quantity demanded and total revenue increases
Ans: a
Feedback: Demand is price inelastic when a small percentage decrease in price produces a smaller percentage increase in quantity demanded and total revenue decreases.
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136. A book on how to invest in collectibles spends several weeks on best seller lists. The paperback book was originally released for US$9.99. A reduction of the price to US$9.79 had no effect on total revenue, which remained the same. This is due to the book having __________.
a) inelastic demand
b) elastic demand
c) unitary demand
d) null elasticity
e) subsidized elasticity
Ans: c
Feedback: With unitary demand, small percentage decrease in price produces an identical percentage increase in quantity demanded so total revenue remains unchanged.
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137. Unitary elasticity of demand exists when __________.
a) a small percentage decrease in price produces a larger percentage increase in quantity demanded
b) a small percentage decrease in price produces a smaller percentage increase in quantity demanded
c) an increase in price causes a larger increase in quantity demanded
d) a small percentage decrease in price is identical to the percentage increase in quantity demanded
e) percentage change in the target market size is equal to the change in quantity demanded
Ans: d
Page: 344

Learning Objective: 4
138. Which of the following statements about unitary demand is true?
a) Products for which there are a lot of substitutes have unitary demand
b) Products like life-saving drugs have unitary demand
c) Products with unitary demand will have price elasticity equal to 1
d) Products with unitary demand have a price elasticity that is greater than one
e) Consumer products like personal jets, yachts and summer homes usually have unitary demand
Ans: c
Feedback: Products with unitary demand will have price elasticity equal to 1. Products with a lot of substitutes have elastic demand. Products like life-saving drugs have inelastic demand. Products with elastic demand have a price elasticity that is greater than one. Consumer products like personal jets, yachts and summer homes are more likely to have elastic demand if their price is a significant percentage of the purchaser's disposable income.
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139. Market analysts for a large cereal company estimated that price elasticity of demand for presweetened cereal is 1.97, but that the entire market for ready-to-eat cereals exhibits price elasticity of demand of 0.36. Most likely, this information will be collected by managers in which step of the price-setting process?
a) Identifying pricing constraints and objectives
b) Estimating the break-even point
c) Estimating demand and revenue
d) Selecting an appropriate (approximate) price level
e) Making special adjustments to list or quoted price
Ans: c
Feedback: Price elasticity of demand is important to marketing managers because of its relationship to total revenue. Analyzing elasticities is an activity that takes place in the second step of the price setting process, estimating demand and revenue.
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140. Price elasticity of demand is determined by a number of factors. Which of the following is NOT one of those factors?
a) The availability of substitutes
b) Necessity good or service
c) Importance of purchase relative to a person's disposable income
d) Luxury good or service
e) The cost of production
Ans: e
Feedback: The first four factors listed above are all discussed in the text as factors influencing price elasticity of demand. The more substitutes a product has, the more likely it is to be price elastic. Products and services considered to be necessities are price inelastic. Items that require large cash outlays relative to disposable personal income are price elastic. The cost of production relates to costs, not revenues (which is the special focus of price elasticity of demand).
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141. Ace Shoe Co. has fixed costs of $6 million and unit variable costs of $5 per pair. Suppose a consultant tells Ace it can sell 700,000 pairs of shoes, thus earning a profit of $2.5 million. What potential error is the consultant making?
a) Assuming that fixed costs are independent of price
b) Assuming that units sold is independent of price
c) Assuming that some fixed costs are variable
d) Assuming that some variable costs are fixed
e) Neglecting the elasticity of supply
Ans: b
Feedback: The consultant assumes that the price resulting from specifying the profit and quantity sold is the price consumers are willing to pay. This is a very big assumption and is the same as saying demand is unrelated to price.
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142. The break-even point for a large grain farming operation was calculated to be 2 million bushels of corn. Break-even analysis would take place in which stage of the price-setting process?
a) Identifying pricing constraints and objectives
b) Determining cost, volume and profit relationships
c) Estimating demand and revenue
d) Select an appropriate (approximate) price level
e) Make special adjustments to list or quoted price
Ans: b
Feedback: Break-even analysis is a technique that analyzes the relationship between total revenue and total cost to determine profitability at various levels of output. It occurs during Step 3 of the pricing process: Determine cost, volume and profit relationships.
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Learning Objective: 5
143. The sum of fixed cost and variable cost is called __________.
a) Marginal cost
b) Value added
c) Average cost
d) Total administrative overhead
e) Total cost
Ans: e
Page: 367, figure 13-8

Learning Objective: 5
144. Parker has two iconic pens—the Duofold design and the Sonnet design. These data apply, regardless of which of two pen designs is being implemented. Materials cost per pen is $6. Labor cost per pen is $5. Production overhead is $1,000,000. Advertising and promotion is $1,000,000. Marketing research has estimated the following demand functions for the next year of sales for the two pen designs where Q represents demand in thousands and P represents price. For the Duofold design, Q = 150 - 2.5P. For the Sonnet design, Q = 175 - 2.1P. What are the total costs for sales of 500,000 units of the Duofold design?
a) $1,000,000
b) $2,000,000
c) $3,650,00
d) $5,500,000
e) $7,500,000
Ans: e
Feedback: The demand function of each design is irrelevant. The answer is Total costs = Fixed costs + Variable costs = (1,000,000 + 1,000,000) + (500,000 units x $11/unit) = $7,500,000.
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145. Fixed cost refers to __________.
a) the sum of the expenses that vary directly with the quantity of the product produced and sold
b) the total expense incurred by a firm in producing and marketing a product or service
c) expenses that are stable and do not change with the quantity of the product that is produced and sold
d) the consideration exchanged for the ownership or use of a good or service
e) total expenses incurred in producing or selling one additional unit of product
Ans: c
Page: 367, figure 13-8
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146. The sum of the expenses of a firm that is stable and does not change with the quantity of the product that is produced and sold is called __________.
a) fixed cost
b) variable cost
c) total cost
d) marginal cost
e) inelastic costs
Ans: a
Page: 367, figure 13-8
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147. Rents, executive salaries and insurance are examples of typical __________.
a) variable costs
b) fixed costs
c) dividends
d) liquidity payments
e) total costs
Ans: b
Feedback: Fixed cost is the sum of the expenses of the firm that are stable and do not change with the quantity of a product that is produced and sold. Examples of fixed costs are rent on the building, executive salaries and insurance.
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148. Which of the following would be an example of a fixed cost for a company that makes carbon monoxide monitoring systems for employees to wear that work in hazardous areas?
a) The lithium batteries that are used in each monitor
b) The chest harness which the employee must use to wear the monitor
c) The rent for the company's offices
d) The free training videos that are sent to each new customer
e) The stainless steel, water-resistant cases in which the monitors sit
Ans: c
Feedback: Fixed cost is the sum of the expenses of the firm that are stable and do not change with the quantity of a product that is produced and sold. Examples of fixed costs are rent on the building, executive salaries and insurance.
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149. Which of the following is a typical example of a fixed cost?
a) Taxes
b) Building rental expense
c) Raw materials
d) Sales commissions
e) Hourly wages
Ans: b
Feedback: Fixed cost is the sum of the expenses of the firm that are stable and do not change with the quantity of a product that is produced and sold. Examples of fixed costs are rent on the building, executive salaries and insurance.
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150. Variable cost is the __________.
a) total expense incurred by a firm in producing and marketing a product or service
b) sum of the expenses of the firm that are stable and do not change with the quantity of the product that is produced and sold
c) money or other considerations (including other goods and services) exchanged for the ownership or use of a good or service
d) change in total cost that results from producing and marketing one additional unit of product
e) sum of the expenses of the firm that vary directly with the quantity of the product that is produced and sold
Ans: e
Page: 367, figure 13-8
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151. The sum of the expenses of the firm that vary directly with the quantity of the product that is produced and sold is called __________.
a) fixed cost
b) total cost
c) marginal cost
d) administrative cost
e) variable cost
Ans: e
Page: 367, figure 13-8

Learning Objective: 5
152. Which of the following would be an example of a variable cost for a publication like CLEO magazine?
a) Increase in women in targeted demographics
b) Salary of publisher
c) Rent for parking deck used by employees
d) Paper and ink for printing the magazine
e) Advertising purchased by new accounts for placement in CLEO
Ans: d
Feedback: The amount of paper and ink vary directly with the number of magazines produced and, hence, are variable costs.
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153. Forever Quilting is a small company that makes quilting kits priced at $120. The costs of the materials that go into each kit are $45. It costs $5 in labor to assemble a kit. The company has monthly expenses of $1,000 for rent and insurance, $200 for heat and electricity, $500 for advertising and $4,500 for the monthly salary of its owner. Forever Quilting's unit variable cost for its kits is __________.
a) $45
b) $50
c) $120
d) $170
e) Unable to be determined from the information provided
Ans: b
Feedback: Unit variable cost is variable cost expressed on a per unit basis—$45 of materials and $5 of labor.
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154. Marginal cost is the __________.
a) sum of the expenses of the firm that do not vary directly with the quantity of product that is produced and sold
b) total expense incurred by a firm in producing and marketing a product or service
c) sum of the expenses of the firm that are stable and do not change with the quantity of product that is produced and sold
d) money or other consideration (including other goods and services) exchanged for the ownership or use of a good or service
e) change in total cost that results from producing and marketing one additional unit of product
Ans: e
Page: 367, figure 13-8

Learning Objective: 5
155. Marginal cost is the change in total cost that results from __________.
a) reducing the total number of units produced
b) increasing the number of units produced by fifty percent
c) increasing the number of products in a product line
d) producing and marketing one additional unit of product
e) eliminating a brand from a product line
Ans: d
Page: 367, figure 13-8

Learning Objective: 5
156. Fisher Scientific is a small company that makes materials for safely controlling hazardous spills of all kinds. It sells these items as a neutralizing kit priced at $120. The costs of the materials that go into each kit are $45. It costs $5 in labor to assemble a kit. The company has monthly expenses of $1,000 for rent and insurance, $200 for heat and electricity, $500 for advertising in trade journals and $3,500 for the monthly salary of its owner. Fisher Scientific’s marginal cost is __________.
a) $5
b) $13
c) $45
d) $50
e) $3,500
Ans: d
Feedback: Marginal cost is the change in total cost that results from producing and marketing

Page: 367, figure 13-8

Learning Objective: 5
157. The change in total cost that results from producing and marketing one additional unit of product is called __________.
a) fixed cost
b) variable cost
c) total cost
d) marginal cost
e) marginal revenue
Ans: d
Page: 367, figure 13-8

Learning Objective: 5
158. Online travel websites have not experienced the same problems as other dot-com companies because these websites __________.
a) rarely attempt to establish any type of long-term relationships with customers
b) focus on market share
c) use tactical objectives instead of strategic objectives
d) reach key customer segments that will actually pay higher prices for hotel rooms or airline tickets
e) create form utility for customers
Ans: d
Feedback: Besides time and money savings for customers, the travel dot-coms have special strategies for success including reaching key customer segments that will actually pay higher prices for hotel rooms or airline tickets.
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Learning Objective: 5
159. Online travel websites have not experienced the same problems as other dot-com companies because these websites __________.
a) rarely attempt to establish any type of long-term relationships with customers
b) focus on market share
c) use tactical objectives instead of strategic objectives
d) are able to conduct almost all operations electronically
e) create form utility for customers
Ans: d
Feedback: Besides time and money savings for customers, the travel dot-coms have special strategies for success including the ability to conduct almost all operations electronically.

Page: 368

Learning Objective: 5
160. According to the text, one of the reasons for the failure of so many brick-and-mortar dot-com businesses was __________.
a) the need to conduct almost all operations electronically
b) setting prices too low to cover huge costs of inventory and warehousing
c) setting prices too high relative to customer income
d) the ability to reach customers who had a great deal of flexibility in what would satisfy their needs
e) spending too little on traditional promotion on TV
Ans: e
Feedback: One of the advantages that dot-coms have is the ability to conduct almost all operations electronically. One of the factors in the failure of so many brick-and-mortar dot-coms was setting a price so low they couldn't cover inventory, warehousing and order-fulfillment costs.
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Learning Objective: 5
161. Which process determines whether total revenue from the sale of an additional unit of product exceeds the cost of producing and marketing that unit?
a) Break-even analysis
b) Marginal analysis
c) Demand analysis
d) Cost-benefit analysis
e) Situation analysis
Ans: b
Page: 368

Learning Objective: 6
162. __________ determines whether total revenue from the sale of an additional unit of product exceeds the cost of producing and marketing that unit.
a) Break-even analysis
b) Marginal analysis
c) Demand analysis
d) Cost-benefit analysis
e) Situation analysis
Ans: b
Page: 368

Learning Objective: 6
163. Break-even analysis is __________.
a) a process that investigates the magnitude of difference between marginal revenue and marginal cost
b) a method of determining just how much a consumer is willing to pay for a product or service
c) a technique that analyzes the relationship between total revenue and total cost to determine profitability at various levels of output
d) the process of determining the quantity of product consumers will buy relative to the quantity produced by the firm
e) the graph that shows the maximum number of products consumers will buy at a given price
Ans: c
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Learning Objective: 6
164. A break-even point is __________.
a) the point of greatest difference between marginal revenue and marginal cost
b) the point at which total revenue and total cost are equal and beyond which profit occurs
c) the point at which marginal revenue equals marginal cost
d) the point at which total revenue and average revenue converge
e) the point at which profit is at a maximum
Ans: b
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Learning Objective: 6
165. The quantity at which total revenue and total cost are equal and where profit starts to occur is called the __________.
a) break-even point
b) point of maximum profit
c) coverage amount
d) incremental return quantity
e) shadow price quantity
Ans: a
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Learning Objective: 6
166. The owner of a small restaurant that sells take-out fried chicken and biscuits pays $2,500 in rent each month, $500 in utilities, $750 interest on his loan, insurance premium of $200 and advertising on local buses $250 a month. A bucket of take-out chicken is priced at $9.50. Unit variable costs for the bucket of chicken are $5.50. How many small buckets of chicken does the restaurant need to sell to break-even?
a) 988 buckets
b) 1,000 buckets
c) 1,050 buckets
d) 3,150 buckets
e) 4,200 buckets
Ans: c
Feedback: The break-even point is calculated as fixed costs divided by price minus unit variable costs or $4,200/($9.50 - $5.50), which equals 1,050 buckets of chicken.
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Learning Objective: 6
167. The owner of a carwash pays $2,500 in rent each month, $500 in utilities, $750 interest on his loan, an insurance premium of $200 and advertising on local bus of $250 a month. A full-service car wash is priced at $10.50. Unit variable costs for the carwash are $7.50. At what level of revenue will the carwash break-even?
a) $4,200.00
b) $12,600.00
c) $14,700.00
d) $29,925.00
e) $39,900.00
Ans: c
Feedback: The break-even point is calculated as fixed costs divided by (price minus unit variable costs) or $4,200/ ($10.50 - $7.50), which equals 1,400 carwashes. Then multiply 1,400 by $10.50, which equals $14,700, the break-even point in dollars.
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Learning Objective: 6
168. You have been asked to calculate the break-even point for a new line of souvenir tee-shirts. The selling price will be $25 per shirt. The labor costs will be $5 per shirt. The administrative costs of operating the company are estimated to be $60,000 annually and the sales and marketing expenses are $20,000 a year. Additionally, the cost of materials will be $10 per shirt. What is the break-even quantity?
a) 1,715 shirts
b) 2,286 shirts
c) 3,000 shirts
d) 4,000 shirts
e) 8,000 shirts
Ans: e
Feedback: The break-even point is calculated as fixed costs divided by (price minus unit variable costs) or 80,000/(25-15)=8,000 shirts needed to break-even.
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Learning Objective: 6
169. Ah Song, the owner of Tick Tock Clock, wanted to know how many clocks he must sell in order to cover his fixed cost at a given price. Ah Song knew that he had a fixed cost of $20,000 for equipment, taxes and a bank loan. He also had a unit variable cost of $20 per clock for labor and materials. If the price Ah Song charges for each of his clocks is $40, what is his break-even point quantity?
a) 10 clocks
b) 100 clocks
c) 1,000 clocks
d) 10,000 clocks
e) Cannot be determined from the information provided
Ans: c
Feedback: The break-even point is calculated as fixed costs divided by (price minus unit variable costs) or 20,000/(40-20)=1,000 clocks.
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Learning Objective: 6
170. Ace Shoe Company sells heel replacement kits for men's shoes. It has fixed costs of $10 million and unit variable costs of $5 per pair. If the company charges $15 per pair, how many pairs must it sell to break even?
a) 300,000 kits
b) 400,000 kits
c) 600,000 kits
d) 1,000,000 kits
e) 2,000,000 kits
Ans: d
Feedback: The break-even point is calculated as fixed costs divided by (price minus unit variable costs) or 10,000,000/(15-5)=1,000,000.
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Learning Objective: 6
171. Ace Shoe Company sells heel replacement kits for men's shoes. It has fixed costs of $6 million and unit variable costs of $5 per pair. Ace would like to earn a profit of $2 million; how many pairs must they sell at a price of $15?
a) 100,000 kits
b) 200,000 kits
c) 600,000 kits
d) 800,000 kits
e) 1,400,000 kits
Ans: d
Feedback: Let Q=Target Quantity. Profit=Total Revenue - Total Cost Total Revenue=[P x Q] – [FC + (UVC x Q)]=$2,000,000.=[15 x Q] – [$6,000,000 + (5 x Q)]=$2,000,000.=15Q – $6,000,000 – 5Q=$2,000,000. 10Q=8,000,000. Q=800,000 kits
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Learning Objective: 6
172. Ace Shoe Company sells heel replacement kits for men's shoes. It has fixed costs of $5 million and unit variable costs of $5 per pair. Suppose a consultant tells Ace it can sell 750,000 heel repair kits, what price must it charge to achieve a profit of $2.5 million?
a) $3.58
b) $7.58
c) $12.15
d) $15.00
e) $17.90
Ans: d
Feedback: Use the break-even formula and solve for price. Let P stand for price. 750,000=[2,500,000 + 6,000,000]/[P - 5] P=$15.00
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Learning Objective: 6
173. Fisher Scientific is a small company that makes materials for safely controlling hazardous spills of all kinds. It sells these items as a neutralizing kit priced at $100. The costs of the materials that go into each kit are $45. It costs $5 in labor to assemble a kit. The company has monthly expenses of $1,000 for rent and insurance, $200 for heat and electricity, $500 for advertising in trade journals and $3,500 for the monthly salary of its owner. What is Fisher Scientific’s monthly break-even point in terms of number of neutralizing kits sold?
a) 47 neutralizing kits
b) 68 neutralizing kits
c) 75 neutralizing kits
d) 104 neutralizing kits
e) 310 neutralizing kits
Ans: d
Feedback: The break-even point is calculated as fixed costs divided by (price minus unit variable costs) or [$1,000 + $200 + $500 + $3,500]/[$100 - ($5 + $45)]=104 kits.
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Learning Objective: 6
174. Chai owns a picture-framing shop, Chaiseng Co. in Thailand. The average price she receives for a picture she frames for a customer is $120. This price must cover her average costs for a typical framed picture of $5 for glass, $2 for matting and $13 for the frame and $30 for the labor involved. She must also cover monthly expenses of $1,000 for rent and insurance, $200 for heat and electricity, $500 for advertising and $3,500 for her salary. Chai is considering buying an automatic mat-cutting machine in order to reduce the number of hours of direct labor required to produce a framed picture. In considering this purchase, she should recognize this purchase will _____ Chaiseng’s variable cost and _____ Chaiseng’s fixed cost.
a) decrease; increase
b) decrease; decrease
c) increase; decrease
d) increase; increase
e) have no effect on; have no effect on
Ans: a
Feedback: The automatic mat-cutting machine will be a fixed cost, which will increase the total fixed cost. This is done in order to lower (decrease) the variable cost (time) involved in cutting the mat for the framed picture.
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Learning Objective: 6
175. Ace Shoe Company sells heel replacement kits for men's shoes. It has fixed costs of $9 million and unit variable costs of $5 per pair. Ace is considering a switch from manual labor to an automated process. New equipment would cost an additional $4 million per year while lowering variable costs by $3 per shoe repair kit. How many kits would Ace have to sell at $17 per pair to make $2 million in profits in the next year with the automated process?
a) 169,231 kits
b) 666,667 kits
c) 705,883 kits
d) 800,000 kits
e) 1,000,000 kits
Ans: e
Feedback: The quantity to achieve this profit is calculated as (profit + fixed costs) divided by (price minus unit variable costs) or [$2,000,000 + ($9,000,000 + $4,000,000)]/[$17 – ($5 - $3)]=1,000,000 kits.
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Learning Objective: 6
176. You are president of a manufacturer of small electronic appliances. You want to reduce your break-even quantity. Other things equal, you can do this by __________.
a) increasing the quantity sold, while keeping price unchanged
b) reducing marginal revenue
c) reducing unit variable cost
d) increasing fixed cost
e) doing all of the above
Ans: c
Feedback: Increasing the quantity sold leaving the price unchanged (Alternative a) will increase profit but has no impact on break-even quantity. Alternatives b and d will actually increase the break-even quantity. Reducing unit variable cost (alternative c) will decrease the slope of the total cost curve, thereby reducing the quantity needed to break even.
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177. Chai owns a picture-framing shop, Chaiseng Co. The average price she receives for a picture she frames for a customer is $120. This price must cover her average costs for a typical framed picture of $5 for glass, $2 for matting and $13 for the frame and $30 for the labor involved. She must also cover monthly expenses of $1,000 for rent and insurance, $200 for heat and electricity, $500 for advertising and $3,500 for her salary. Assuming everything else stays the same, if Chai wants to increase her advertising expenses to $1,000, this would cause the slope of the total cost curve to __________ and the break-even quantity to __________.
a) decrease; stay the same
b) decrease; increase
c) increase; increase
d) stay the same; increase
e) stay the same; decrease
Ans: d
Feedback: The slope of the total cost curve is only affected by changes in unit variable cost, so the slope stays the same—it intersects the vertical axis $1000 higher. Thus, the total revenue and total cost curves intersect at higher (increased) quantity, thereby increasing the break-even quantity.
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178. Chai owns a picture-framing shop, Chaiseng Co. The average price she receives for a picture she frames for a customer is $120. This price must cover her average costs for a typical framed picture of $5 for glass, $2 for matting and $13 for the frame and $30 for the labor involved. She must also cover monthly expenses of $1,000 for rent and insurance, $200 for heat and electricity, $500 for advertising and $3,500 for her salary. Assuming everything else stays the same, if Chai increased the average price charged for a framed picture, in a break-even chart this would cause the slope of the total revenue curve to __________ and the break-even quantity to ___________.
a) increase; increase
b) increase; decrease
c) decrease; decrease
d) decrease; increase
e) stay the same; increase
Ans: b
Feedback: Increasing the price causes the slope of the total revenue curve to increase, which causes it to intersect the total cost curve at a lower (decreased) quantity.
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Learning Objective: 6
179. A __________ is a graphic presentation of the relationship between total revenue and total cost that determines profitability at various levels of output.
a) Gantt chart
b) demand curve
c) ROI analysis
d) cross-tabulation
e) break-even chart
Ans: e
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Learning Objective: 6
180. A __________ is most often used in marketing to study the impact on profits of changes in price, fixed costs and variable costs.
a) Gantt chart
b) break-even chart
c) ROI analysis
d) cross-tabulation
e) demand curve
Ans: b
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181. Figure 13-11 shows that by selling 200 pictures the firm will __________.
a) break even
b) incur a loss
c) earn a profit
d) have no fixed costs
e) have no variable costs
Ans: b
Feedback: At a quantity of 200 pictures the firm will incur a loss; in fact the firm will not even cover its fixed costs.
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Learning Objective: 6
182. According to Figure 13-11, how much profit will the firm make if it sells 400 pictures?
a) $48,000
b) $35,000
c) $20,000
d) $32,000
e) $0
Ans: e
Feedback: The break-even point is defined as the point at which profit is exactly $0.
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Learning Objective: 6
183. Figure 13-11 shows that by selling 800 pictures the firm will __________.
a) break even
b) incur a loss
c) earn a profit
d) have no fixed costs
e) have no variable costs
Ans: c
Feedback: At a quantity of 800 pictures the firm will earn a profit.
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Learning Objective: 6
184. Figure 13-11 is drawn to show that variable costs are smaller than fixed costs when the firm sells __________.
a) <400 pictures
b) 800 pictures
c) 1000 pictures
d) 1200 pictures
e) there is not enough information to determine this
Ans: a
Feedback: When selling less than 400 pictures the variable costs are less than the fixed costs. This can be seen by comparing the fixed costs of about $20,000 with the variable costs total cost - $20,000. 
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185. The survey carried out by NUS students found out that very few consumers were willing to pay more than S$20 for Glitzz. What does this mean?
a) This is not a constraint on Glitzz’s pricing strategy
b) Setting prices above S$20 will significantly reduce Glitzz’s profitability. 
c) This is a constraint on Glitzz’s pricing strategy because it involves Glitzz’s cost structure
d) The demand for the guitar will stay the same no matter what the price increase
e) The potential buyers of the Glitzz are completely price insensitive
Ans: b
Feedback: The fact that very few consumers were willing to pay more than S$20 for Glitzz means that only for prices below S$20 does Glitzz makes profit. Hence prices above S$20 will reduce Glitzz’s profitability. This is a constraint on Glitzz’s pricing strategy because it involves consumer’s income, which in turn affects the demand curve. 

Page: 375

Learning Objective: 2
186. Which type of competitive market is Glitzz likely to be in? 
a) Pure monopoly
b) Oligopoly
c) Monopolistic Competition
d) Pure Competition
e) There is not enough information to draw a conclusion. 
Ans: b
Feedback: Since there are only a few large competitors in the market like Brilliant Restorer, Connoisseurs and Powervescent that sell close substitutes to Glitzz and since the start-up cost is high (with the use of chemicals and machinery), Glitzz is likely in an oligopoly market. 

Page: 359, figure 374-375

Learning Objective: 2
187. Glitzz’s owners must think of a price to cover its average costs of and fixed expenses. They also need to decide whether they should launch advertising campaigns that may cost S$1 to 2 billion. Assuming everything else stays the same, the addition of the advertising campaigns would cause the slope of the total cost curve to __________ and the break-even quantity to __________.
a) decrease; stay the same
b) decrease; increase
c) increase; increase
d) stay the same; decrease
e) stay the same; increase
Ans: e
Feedback: The slope of the total cost curve is only affected by changes in variable cost, and since advertising is a fixed (sunk) cost, the slope stays the same. But while the slope of the total cost curve stays the same, it moves higher (keeping the same slope). Thus, the total revenue and total cost curves intersect at higher (increased) quantity, thereby increasing the break-even quantity.
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Learning Objective: 6
Short Answer

188. What are the benefits that online travel companies like ZUJI offers to customers?
Ans: Online travel companies like ZUJI offer two key benefits to customers: 1. Saving time: Travel reservations are made easy via the user friendliness interface, saving much time from misunderstanding and miscommunication. 2. Saving money: Customers can achieve substantial price savings using online travel bookings instead of conventional methods. 
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Learning Objective: 1
189. Explain the price equation in the context of a new car purchase.
Ans: The price equation is price = list price - (incentives and allowances) + extra fees. The final price of a car = list price - (rebates, cash discounts, old car trade-in) + (financing charges, special accessories, destination charges).

Page: 353, figure 13-1

Learning Objective: 1
190. How do consumers use price as an indicator of value?
Ans: From a consumer's standpoint, price is often used to indicate value when it is compared with the perceived benefits such as quality, durability and so on of a product or service. This relationship is described in the definition of value: Value = Perceived Benefits / Price. So, for a given price, as perceived benefits increase, value increases.
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Learning Objective: 1
191. What are the six major steps involved in setting prices?
Ans: 1. Identify pricing objectives and constraints.
2. Estimate demand and revenue.
3. Determine cost, volume and profit relationships.
4. Select an approximate price level.
5. Set list or quoted price.
6. Make special adjustments to list or quoted price.

Page: 355, figure 13-2

Learning Objective: 1
192. Step 1 of the pricing process is identifying pricing objectives and constraints. Describe the reasons these objectives may change and give examples of objectives a firm may set.
Ans: Pricing objectives involve specifying the role of price in an organization's marketing and strategic plans. The objectives may change depending on the financial position of the company as a whole, the success of its products or the segments in which it is doing business. The firm may set profit, sales, market share, unit volume, survival and/or social responsibility objectives.

Page: 355-358

Learning Objective: 2
193. Step 1 of the pricing process is identifying pricing objectives and constraints. Describe the constraints a firm is likely to face.
Ans: Pricing constraints are factors that limit the latitude of prices a firm may set. Consumer demand for the product class, product and brand clearly affects the price that can be charged. Other constraints are set by factors within the organization: newness of the product (stage in the product life cycle), whether it is part of a product line or a single product and cost of producing and marketing the product, cost of changing prices and time period they apply and type of competitive markets. Competitive factors such as the nature of competition and prices set by competitors also restrict an organization's ability to set price.
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Learning Objective: 2
194. Describe the types of competitive markets and give an example of each.
Ans: There are four types of competitive markets:
1. Pure monopoly is exemplified by most electric utilities. A monopoly is one seller who sets the price for a unique product.
2. Oligopoly is exemplified by Reynolds and Alcoa as sellers of aluminum. An oligopoly is few sellers who are sensitive to each other's prices.
3. Monopolistic competition, exemplified by Skippy and Jif among dozens of brands of peanut butter. Monopolistic competition is many sellers who compete on nonprice factors.
4. Pure competition is exemplified by George W. Childs' grain elevator, which is one of hundreds that sell corn whose price is set by the marketplace. Pure competition is many sellers who follow the market price for identical, commodity products.

Page: 359, figure 13-4

Learning Objective: 2
195. Describe a profit objective used by many Japanese firms.
Ans: Managing for long-run profits is a pricing objective followed by many Japanese firms that are willing to forgo immediate profits in cars, TV sets or computers to develop quality products that can penetrate competitive markets in the future.
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Learning Objective: 2
196What are the six broad objectives that an organization may pursue which tie in directly to the organization's pricing policies?
Ans: The six broad objectives that an organization may pursue which relate directly to the organization's pricing policies are profit, sales, market share, unit volume, survival and social responsibility.
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Learning Objective: 2
197. In the process of setting price, a marketer must first identify pricing constraints and objectives. Next, three specific estimates are necessary. What are they?
Ans: The three key items in Step 2 are:
demand estimation,
sales revenue estimation and
price elasticity estimation.
Page: 355, figure 13-2

Learning Objective: 3
198. List four key factors used to estimate demand.
Ans: Of course price is one factor. However, price is not the complete story in estimating demand. Economists stress three other key factors: consumer tastes (depend on many factors such as demographics, culture and technology), price and availability of similar products and consumer income.
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Learning Objective: 3
199What is the difference between a movement along a demand curve and a shift of a demand curve?
Ans: a movement along a demand curve assumes that other factors (consumer tastes, price and availability of similar products and consumer income) remain unchanged. To sell more the price would be reduced.
A shift of demand occurs when one or more of those factors change. The change in these factors will likely change the quantity demanded without changing the price.
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200. Explain the three forms of price elasticity of demand.
Ans: Price elasticity of demand assumes three forms: elastic demand, inelastic demand and unitary demand. Elastic demand exists when a small percentage decrease in price produces a larger percentage increase in quantity demanded. Inelastic demand exists when a small percentage decrease in price produces a smaller percentage increase in quantity demanded. Unitary demand exists when the percentage change in price is identical to the percentage change in quantity demanded.
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Learning Objective: 4
201. Explain why price elasticity is important to marketing managers.
Ans: Price elasticity of demand is important to marketing managers because of its relationship to total revenue. With elastic demand, total revenue increases when price decreases, but decreases when price increases. With inelastic demand, total revenue increases when price increases and decreases when price decreases. With unitary demand, total revenue is unaffected by a slight price change. Because of this relationship between price elasticity and a firm's total revenue, it is important that marketing managers recognize price elasticity of demand is not the same over all possible prices of a product.
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202. What factors determine price elasticity of demand?
Ans: Price elasticity of demand is determined by a number of factors. First, the more substitutes a product or service has, the more likely it is to be price elastic. Second, products and services considered to be necessities are price inelastic. Third, items that require a large cash outlay compared with a person's disposable income are price elastic.
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203. What is the difference between fixed cost and variable cost?
Ans: Fixed cost is the sum of the expenses of the firm that are stable and do not change with the quantity of product that is produced and sold. Variable cost is the sum of expenses of the firm that vary directly with quantity of product that is produced and sold.
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Learning Objective: 5
204. Define marginal analysis.
Ans: In personal terms, marginal analysis means that people will continue to do something as long as the incremental return exceeds the incremental cost. In marketing and pricing decisions, marginal analysis means that as long as revenue received from the sale of an additional product (marginal revenue) is greater than the additional cost of producing and selling it (marginal cost), a firm will expand its output of that product.
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Learning Objective: 6
205. Marketing managers often use break-even analysis to analyze the relationship between total revenue and total cost to determine profitability at various levels of output. What is the break-even formula? Use the formula to calculate how many compact disc players a dealer must sell if her fixed costs are $6,000, unit variable costs are $140 and the selling price is $200.
Ans: The Break-Even Point (BEP) is the quantity at which total revenue and total cost are equal and beyond which profit occurs.
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